Bellwork Alg2 Monday, December 3, 2018

Simplify each. Assume all variables are positive.

1. 3120°R* - J140RS - 3150°R 2.

4 2m5n13

4162m"Bn?

3. If a®b = 122, and b is an odd integer, then a could be divisible by all of the following EXCEPT:
A 3 B. 4 C. 6 D. 9 E.. .12

4 |x |0]2]4]5
fx)13]1]0]|-=2
in the table. Which of the following must be a factor of f{x)?

A x-2 B. x-3 C. x-4 D. x-5

The function f{x) is defined by a polynomial. Some values of x and /{x) are shown
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3. Ifa?b = 122, and b is an odd intev er, then a could be divisible by all of the following EXCEPT:
? D. 9 ‘

A. 3 B. 4 C. 6 E 12
( ailh e R =l Z = BA B
\ +he only odd integers b wuld ke ae 1,3, £ 9
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in the table. Which of the following must be a factor of f(x)?
A x-2 B. x-3 ( C.x-4) D. x-5

" The function f{x) is defined by a polynomial. Some values of x and f{x) are shown
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